TRIGONOMETRIC IDENTITIES
HONORS PRECALCULUS__DURHAM


	Reciprocal Identities
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	Quotient Identities
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	Pythagorean Identities
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	Negative
	Angle Identities
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	Cofunction Identities
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Hints for Verifying Identities

1.  Learn the fundamental identities. Whenever you see either side of a fundamental identity, the other side should come to mind. Also, be aware of equivalent forms of the fundamental identities.

2.  Try to rewrite the more complicated side of the equation so that it is identical to the simpler side.

3.  It is sometimes helpful to express all trigonometric functions in the equation in terms of sine and cosine and then simplify the result.

4.  Usually, any factoring or indicated algebraic operations should be performed.  (e.g., squares of sum and difference, sum and difference of squares and cubes.)
5.  As you select substitutions, keep in mind the side you are not changing, because it represents your goal.

6.  If an expression contains 
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	Verify the following.  (Prove the following trig identity.)


	Do you have to write down theorems of reasons for each manipulation? Nope! Just show all of your steps!


(tan x) (sin x) = sec x – cos x
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